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Reminder ξ-behaviour

• assumed 1/sqrt(1+ξ2) behaviour valid for photon energies


• I plotted 1-1/sqrt(1+ξ2) for electrons in this plot


• not necessarily true (only valid if one electron emits 1 photon…) 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Compton Electron vs Photon Energy

0 2 4 6 8 10 12 14 160

2

4

6

8

10

12

14

16

0

2

4

6

8

10

12

14

16

18

20

910×

el_EGen_vs_phot_EGen

0 2 4 6 8 10 12 14 160

2

4

6

8

10

12

14

16

0

200

400

600

800

1000

1200

1400
610×

el_EGen_vs_phot_EGen

EPhoton [GeV] EPhoton [GeV]

E E
le

ct
ro

n 
[G

eV
]

E E
le

ct
ro

n 
[G

eV
]

ξ=1.5 ξ=5.1

• shown here: leading outgoing electron and leading photon per stdhep event 


• diagonal: electron energy = 16.5GeV-phton energy


• intermediate ξ: most particles still on diagonal


• high ξ: many off-diagonal particles (“blob" → Trident electrons?)
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Compton Electron vs Photon Energy

ξ=0.15

• ~98% on diagonal 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Compton Electron vs Photon Energy

ξ=1.5

• ~81.8% on diagonal 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Compton Electron vs Photon Energy

ξ=5.1

• ~65% on diagonal 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Conclusion

• 1-1/sqrt(1+ξ2) behaviour seems ok up to ξ~1.5 where we can determine the edge shift


• can we exploit the fact that we know both the photon and electron energy? 
(albeit not scatter-by-scatter…)


• working on edge/norm vs. xi plots 


 


